5000

5./0

-10 R 40[ 10 \ \ \
oA g ]
r ANNELESONI 15,0 O NIV 8 35 ]
OGP o a0 O GODOOFOT] . E 8 7
ot : 4 [ ]
g 2‘5} J
« 5fF 1 I 6 e
= 20F 1
> : 4
10F - r |
150
[ 4 B
15F - :
10F |
o) E N N B S B R B 05 . L [ | 2 | | L
00 02 04 06 08 10 05 1.0 15 2.0 25 10 15 20 25
phase ¢y H-K V—K
15.0= ‘ -
1450 —]
g‘/ T4 0 o -
S =
8 =
135 T A S i
130
40
] =
N A A AR A R A A R AR A R HHHmiHHHmHH
§ °F \”wHum‘wmu”wwu M i “"Hmu‘wHw”wmuwww 1
s -
o —20—
£ O 7
-4 7
1.0 -
8 os— —]
S - =
T os— —
s = =
8 04— —
] C 3
§ 02— —
00 ‘ ‘ ‘ ‘ ‘ ‘ - =
0 50 100 150 200 250 300
time [yr]
—8.0[ ‘ ‘ ‘ ‘ ‘ ‘ ‘ 1 axioE ‘ ‘ 5
[ & e @ 1 %
-78F [ 50.59 3 3x10"E
: - &2 ] : Tor 3000 K
= [ g T ]
F ol T L gL 3.70 Lg
P ] : 1 Mass 1.00 Mg
-7.41 u: . . 1x10° E \g(cfo> 250
i £ w ] : i C/0 1.69
-7.2 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ok ‘ ‘ E
68 ‘ ‘ ‘ ‘ ‘ ‘ ‘ - ‘ ‘ -
F ] & Au,, 4 km/s
_e4l B % 40.66 1 -k 1 f 1.0
¥ °eP g 1 < o E
[ I 1 € E E
— 6ol ° o 1 & j class pp
o I 8 D‘ ' 7 2\ =
£ [ e 7o 13 E E
> -eof se ool 1 8 E
; oo g | 1 8 -iof 4 No wind
=581 [ b g g
Y ‘ ‘ ‘ ‘ ‘ 1 722:— 3 Period  294. d = 0.806 yr
-28[ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ] 25<107°F 7  Radius 268. Ro
L 5 o ] F { logg —0.42
-256 P o 4083 1o 2.0x107°F 1AMy 0.419
t @ . .0.82 73 t l
[ Poan o 1g F ]
= -241 o ' ' -° 1.5x10°° | 7
g r ‘ T 15 r 1  Colour mean / min / max / range
= [ _oo . 15 oF ] B-V) 2.04 2.01 2.07 0.06
> —22p e € 1.0x10° 4 (v=' 239 231 2,43 0.12
t - oo 12 [ ] V—K 536 5.19 544 0.25
ok o 18 5 oxioE 4 (J-H) 091 087 095 0.08
F S e, 17 : 1 (J-K) 145 1.40 1.48 0.09
r . B 1 r ] H-K) 0.54 0.51 0.58 0.07
-18L ‘ N L ! ] ok 4
321 323 337 338

time [yr]

time [yr]



gas velocity [km/s]

log density [g/cm?]

Toes [K]

Note: Time increases downwards. Scales OK for last curve (bottom black)
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